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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Agriculture is included in economic activity te by o u/} o’b» K s 1 -1
Secondary activities uy/}u’y‘e (B) Primary activities ul// dbvf (A)
Quaternary activities uv///(j‘i)f‘(D) ‘ Tertiary activities uv_f/dt}r (C)

in Pakistan, what percentage of la Pdur&rce is wOrkmg Ut S e el P s & U u(/t 2

in agriculture : j’t &

44 37 % (D) w4 *“5., 30 % (B) 220 % (A)

Durand line is a border betwee : / \3 le wp LM Sl

Pakistan & India w4 (B} 4 lﬁn & Chma J”JL (A)
Pakistan & Iran u!/IJL (’Ql\ Pz’us}&ﬁ & Qfghanistan uuu/t (C)
‘Pakistan Railways Headquarter is Iocated\rﬁ‘\\é e ;f&’ dl; I ¥ ks gt L 4
Karachi J!/ (D) L.ahore .x (C) Peshawar mé(B)ﬁ;i Réwalplndl SLdols (A)

Pink collar workers have been included in : '(' 47/ Ce Lf J’V £ 30 ¥ ..,v 5
Secondary activities uw}uie (B) Prlmary activities ut///d!,v’ (A)
Quaternary activities ut;);/db! D) - Tertiary activities ut///du‘ ©

What is the percentage of world's population invoived in :‘%-_Jwa,u,»:/}dud:l,: s 4": J ¢rle

agricultural activities :

#1425 % (D) w4 48 % (C) +4 90 % (B) 10 % (A)

Modern canal system started in Sub-Continent in : e LT E B G s A7
+»1900 A.D (D) #1890 AD (C) »1885 A.D (B) #1859 AD (A)

Which of the following is a geographical factor : < oo <« P d 355 8

for industrial growth :

Skilled force = 4§/t (B) Capital .l  (A)
Planning S (D) Location &HJf (C)

WAPDA was established in : ' L F (e ¥ 1Ll
#1970 AD (D) #1959 A.D (C) £1947 AD (B) #1949 AD (A)

The highest producer of iron ore in the world is : P ) c//f'/ e sl J :‘.) (G 2 10

US.A ! &y (D) China % (C) Australia |t 7 (B) Brazil iz (A)

(i’ J/))



(2)

Equatorial rain forests are located in : P Z = S i 11-1
© kPP 15°-20° Lattitude (B) A fF 0°-5° Lattitude  (A)
b fr 50°=55° Lattitude () P 30°-35° Lattitude (G
Coal has played a vital role in the development of ;# ! Wbt S 6 LG LW 12
Shipping development &U]lﬂ (B) Ryltural development 3585 (A)
Transportation development J‘;u‘“‘}a evelopment @JG’J (C)
The cheapest electricity energy res Ze i 2 e Pl e o ¥ ¥ 13
Coal % (D)  Mineral y d»g( ) Hydel electricity ez, (A)
Sardine is akind of : ¥ ) PR (E T P
Sheep &% (D) ./ Mif?;?‘al S W) ish S (B) Plant desy (A)
Area of Pakistan ig‘.,;. ﬂ .\ T 1 dl‘}fg 16
I 8T, 205344 sq.km (A)
P 8T 540249 sq.km (C)
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( PART -1 Jil )
12 2. Write short answers to any SIX (6) questions : - 2 14 /:; L =y (6) g < J[ <2

(i) Define commercial geography. Ny g 212 lef" (i)

(i) How is commercial geography fe xmy 4 2 F WL sk iz JA?’ (ii)

beneficial for commerce students?

(i) What is plankton? e B i)

(iv) What is meant by herding? e e = QL (i)

(v) Write two benefits of forests. -“é {/’ L1990 L =l (v)

(vi) Why is Antarctica un-inhabited? fe u)f )g:’/é gL (ﬁif/. (vi)
(vii) Iron is used in which industries? e b 2 U gf/ Je-1 ¢ o (vii)

(viii) What is the importance of chemical fertilizers ?+qﬂl~u/Ju;)b(é.g{~L£5}&/j (viii)
for agricultural development?

(ix) What is meant by industry? el « w2 (ix)
12 3. Write short answers to any SIX (6) questions : : g O 4 /:"‘ L =ty (6) g JJ( =3

(i) Choose the dairy farming centres of the world. ?ugu(.[ g PS5 e (i)

(i) Name out the country with least S‘ux.C:! < &x sl J’»b J (xf s & J L g (i)
wheat production in the world and why?

(iii) Explain the suitable climate required e/t U s T usir & £ =26 § Sl (i)
for cultivation of rice,

(iv) In which country first natural rubber $Z_» =3l <oy £ % $od Ut oL (iv)
plant was discovered?

(v) Compare the types of iron ore. _g{ il K ru"l S «J b (v)

(vi) When and which scientist discovered uranium S’J ) J (fvg o UFL J/ (vi)
in the world?

(vii) Write down major oil exporting S e I WLt d_ SaTaFe ne s 15 (vil)

countries in the world.
(viii) How many countries the natural gas ?ug;t;;',';ﬁf&u*f S L WE L s (i)
reserves in the world? .
(ix) How much population was present in the Sl JB:;TJ e bl enlell 52016 (iX)
world according to 2016 data?
12 4. Write short answers to any SIX (6) questions : : g AR 4 /‘.." L =iy (6) g & JJ( -4
(i) Pakistan is divided into how many parts ‘.’:‘.fy/ﬂ”‘uﬁuﬂ’ga,l;l!z:dumdfbfubfg (i)
according to physical features?
(i) What is the role of forests in e S8 = g § 0§ ol (i)
the development of Pakistan?
(i) What are the main rice growing St & of Lt 41 £ =2¥ g ok UE oL (i)
areas in Pakistan?
(iv) Write any two physical 20N TN VN ' 5 RS- JY Lol (v)

factors for cotton cultivation in Pakistan.
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(2)
4. (v) Why is the trend of solar power increasing ‘-‘u:ﬁ/.‘a Vs 2% JGs K é{ u;f ¥ utfg (v)
in Pakistan?
(vi) Give two benefits of tree plantation. _é ”//’ 80 LS8 =0 (Vi)
- Uk A § YT (vil)

(viii) What do you know about Tarbela Dam? ' 2l Y -) L (45 e (viii

(i) What are the main wheat growing €t = o e (11 £ =26 § o U oL (%)
areas in Pakistan?

(vii) State the boundaries of Pakistan.

( PART-1I (v )
e Lo e cud

Note : Attempt any THREE questions.
& k= 01§ uh S dU

8
5. Explain in detail the types of human economic activities.
8 L ok I v o S g il U

6. Describe major wheat producing countries of the world.
8 7. Write a note on the global production of gold. ey {f Li g Mg Sos S s
8 8. Write a note on the sources of irrigation in Pakistan. 2 r. J’L”/T 2 £ ol
E i g &£ ef S Lot Ut ol

9. Discuss over population problems in Pakistan and give their solution.
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